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• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 7 rFkk iz'u 6 gSaA  

Please make sure that the printed pages in this question paper are 7 in number and 

it contains 6 questions. 

• iz'u-i= esa lcls Åij fn;s x;s dksM uEcj dksM uEcj dksM uEcj dksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

The Code No. on the top of the question paper should be written by the candidate 

on the front page of the answer-book. 

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 
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• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 

dkVsaA 

Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper.    

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 

lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

uksV %uksV %uksV %uksV %        iz'u la[;k 1 ls 3 esa ls dksbZ nksnksnksnks iz'u dhft,A 'ks"k lHkhlHkhlHkhlHkh iz'uksa ds mÙkj funsZ'kkuqlkj nhft,A  

  Attempt any two questions from Question No. 1 to 3. Answer all the remaining 

questions according to instructions.  

 uksV %uksV %uksV %uksV %        igys rhurhurhurhu iz'uksa esa ls dksbZ nksnksnksnks  dk mÙkj nsA izR;sd ds ik¡pik¡pik¡pik¡p vad gSaA   5 × 2 = 10 

  Out of first three questions attempt any two. Each has five marks.  

1. ck;ksVsDuksykWth fdl izdkj dh Hkwfedk fuHkk jgh gS vkSj ;g fnu-izfrfnu esa dSls ykHknk;d gS] blds 

ykHk dk mnkgj.k Hkh nhft,A   

How biotechnology is playing any role in day-today life. Give example of its 

usefulness.  
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2. ?kjsyw i'kq dkSu-ls gSa] budksa D;ksa ikyk tkrk gS] budks ikyus ls eq[; ykHk D;k gSa \   

Which are the domestic animals and why these are reared and what are the 

main advantages of animal rearing ? 

3. cdjh ikyu D;k gS \ budk izca/k D;k gS] vkSj blds D;k ykHk gSa \  

Write about goat farming. How they are useful and how these are managed ?  

4. bl Hkkx esa ukSukSukSukS iz'u gSa] buesa ls fdUgha vkBvkBvkBvkB dk mÙkj nsa] izR;sd ds rhurhurhurhu vad gSaA 3 × 8 = 24 

In this there are nine questions, do any eight, each has three marks.  

(i) ekSle dh Hkfo";ok.kh esa le; ds lkFk D;k lq/kkj gqvk gS \ buds dksbZ pkjpkjpkjpkj ekinaM crkb;sA  

 How weather forecasting is improving over a period of time ? Name its any 

four parameters.  

(ii) lw{e foKku ¼ekbØksck;ksykWth½ fdu-fdu phtksa dks n'kkZrh gS vkSj ;s fdl izdkj ykHkdkjh gSa \  

 Microbiology deals with which issues and how it is useful ? 

(iii) IykaV czhfMax ds ykHk crkb,A 

 Write the advantages of plant breeding. 

(iv) o"kkZ fdl izdkj fdlkuksa ds fy, ykHkdkjh gS \  

 How is rain beneficial for formers ? 
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(v) ck;ks dsfeLVªh jlk;u foKku ls D;ksa fHkUu gS \ 

 Why biochemistry is different from chemistry ? 

(vi) i'kq dh czhfMax fdl izdkj fdlkuksa ds fy, ykHknk;d gS \ 

 How animal breeding is good for farmers ? 

(vii) HksM+ ikyu dks la{ksi esa fyf[k,A 

 Write in brief about sheep farming. 

(viii) tsusfVDl dh ifjHkk"kk crkb;sA  

 Define genetics. 

(ix) i'kq ikyu foHkkx dk jkT; esa D;k ;ksxnku gksrk gS \  

 What is the role of animal husbandry department in a state ?  

5. uhps fy[ks x, vkBvkBvkBvkB iz'uksa esa ls fdUgha lkrlkrlkrlkr dk mÙkj nsaA izR;sd ds nksnksnksnks vad gSaA  2 × 7 = 14 

Attempt any seven, out of eight questions given below, each carry 2 marks :  

(i) i'kq pkjksa ds uke crkb;sA  

 Name the main fodder crops.  

(ii) i'kqvksa dk xzkeh.k {ks=ksa dh vFkZO;oLFkk esaa D;k Hkwfedk gS \ 

 Write about the role of animals in rural economy.  

(iii) o"kkZ dks fdl izdkj ukik tkrk gS vkSj bldks ekius dh D;k bdkbZ gS \ 

 How rainfall is measured and name its unit of measurement ? 
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(iv) IykaV czhfMax ds D;k-D;k izdkj gSa \ 

 Name the types of plant breeding. 

(v) iksyhus'ku D;k gS \ 

 What is pollination ? 

(vi) ,xzksesVªksykWth fdu phtksa ds ckjs esa gS \ 

 Which are the items dealt by agrometrology ? 

(vii) Ñf=e xHkkZ/kku ¼vkfVZfQf'k;y bulsfeus'ku½ ds ckjs esa fy[ksaA  

 Write about artificial insemination ? 

(viii) gfj;k.kk esa rkdr okys i'kqvksa ¼Mªk¶V½ dh egÙkk D;ksa de gqbZ gS \ 

 In Haryana, why the role draft animals have reduced ? 

6. fuEufyf[kr rsjgrsjgrsjgrsjg iz'uksa esa ls fdUgha ckjgckjgckjgckjg     ds mÙkj nhft,] izR;sd dk 1 vad gSA mÙkj dsoy lgh lgh lgh lgh ;k 

xyr xyr xyr xyr esa nhft, % 1 × 12 = 12 

Attempt any twelve, out of thirteen questions given below, each has 1 mark, 

answer may be given as right or wrong  :  

(i) cjlhe ,d [kq'd pkjs ds :i esa iz;ksx fd;k tkrk gSA  

 Barseem is also used as dry fodder. 

(ii) ekSle dh Hkfo";ok.kh ykHknk;d gSA  

 Weather forecasting is useful. 
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(iii) ,xzksesVªksykWth Qly ;kstuk esa lgk;d gSA  

 Agrometeorology plays a good role in for crop planning.  

(iv) ekSle fdlh LFkku ij fuHkZj ugha djrk gSA  

 Climate of an area does not depend upon any place.  

(v) fo'o esa lcls vf/kd o"kkZ dk LFkku es?kky; esa iM+rk gSA  

 Maximum rainfall area of the world falls in Meghalaya.  

(vi) rkieku dqN le; ls c<+ jgk gSA  

 Temperature is rising in the recent time.  

(vii) ngh tekus esa lw{e dhVk.kqvksa dk ;ksxnku gksrk gSA  

 Curd making process is because of microbial activities.  

(viii) xsagw ,d Lo;a mRiknu okyh Qly ughaughaughaugha gSA 

 Wheat is not a self pollinated crop.  

(ix) cktjk vukt rFkk i'kq pkjs ds fy, iz;ksx esa yk;k tkrk gSA  

 Bajra is a millet and used for animal fodder also.  

(x) leqnz ekSle dh Hkfo";ok.kh esa eq[; Hkwfedk ughaughaughaugha j[krk gSA  

 Oceans play no important role in weather forecasting.  
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(xi) /kku ds vo'ks"k tykus ls ok;q iznw"k.k izHkkfor gksrk gSA  

 Paddy stubble burning affects the air quality. 

(xii) feBkbZ nw/k dh enn ls cukbZ tk ldrh gSA 

 Sweets can be prepared with the help of milk. 

(xiii) fx) ,d ejs gq, i'kqvksa ds fy, ,d izdkj ls lQkbZ dk dk;Z ughaughaughaugha djrh gSA 

 Vulture are not good scavenger of dead animals.  
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